Pel'iOdS *Each row is called a “period”

The elements in each period have
the same number of shells

1st Period = 1 Sh
FERIODS

2hd Period

3rd Period

4th Period
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Groups Group 8

Group 1 = 1 electron

Except for He, it
/ Group 2 = 2 electrons has 2 electrons

/ S8 7 Each column is called
crovpPs % 20 TRY  a“group”

Each element in a
group has the same
number of valence
electrons”.

‘The electrons in the
outer shell are called
“valence electrons”
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Increasing
atomic mass as
YOU gO across
the periods left

to right =)
&

InCreasing
atomic mass
as you down

the groups.




NOTE:
« Each PERIOD has the same number of electrons shells.
« Each GROUP has the same # of outer valence electrons.
Group 1A Group 8A

Helurm
Group 3JA Group 48 Group 5A Group 68 Group TA FHe

Lithium Boryllivm Boron Carbon
Li Be B C

Sodivm | Magnedivm .Pulumi:'lum Silil:‘l:r| .. 'Sull:ur Ch':J;ilhE
Ma Mg FL1] S 5 i |

Period 4
4 skl

Caleium 'GalliLm GI‘."I‘I‘I‘L;IIIH.II'H .F'.r:-l'.:nit 'Stf&l';ium Er-t:rﬁ.inc
A G e Ag = Br




Determine the number of shells and the
number of valence electrons for:

Carbon - C

2nd Period = 2 shells

1

4th Group =
e‘* 4 valence
electrons
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Determine the number of shells and the

number of valence electrons for:

Sodium - Na

3rd Period = 3 shells
1st Group =
1 valence
electron
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Write your answers on your handout.

Ne

Name the element.
Number of shells ?
Valence electrons ?




Write your answers on your handout.

Ne

Name the element. Neon
Number of shells ? 2nd period = 2 shells
Valence electrons ? 8th Group = 8 valence

electrons




Write your answers on your handout.

H

Name the element.
Number of shells ?
Valence electrons ?




Write your answers on your handout.

H

Name the element. Hydrogen
Number of shells ? 1st Period = 1 shell
Valence electrons ? 1st Group = 1 valence

electron
1




Write your answers on your handout.

Be

Name the element.
Number of shells ?
Valence electrons ?




Write your answers on your handout.

Be

Name the element. Beryllium
Number of shells ? 2nd pPeriod = 2 shells
Valence electrons ? 2nd Group = 2 valence

electrons

1

o
@
=

2




Write your answers on your handout.

He

Name the element.
Number of shells ?
Valence electrons ?




Write your answers on your handout.

He

Name the element. Helium
Number of shells ? 1st Period = 1 shell
Valence electrons ? 8th Group = 2 valence

electrons

* Helium is the exception in Group 8.

» Since it has just one shell, that shell
can only fit 2 electrons instead of 8.

* It is in this group because all the
elements have a full outer shell.




® How many valence electrons?

® \What group is this element in?
Period?



® How many valence electrons?

® \What group is this element in?
Period?



® How many valence electrons?

® \What group is this element in?
Period?



® How many valence electrons?

® \What group is this element in?
Period?



® How many valence electrons?

® \What group is this element in?
Period?



What does it mean to be
reactive?

Elements that are reactive bond easily with other
elements to make compounds.

What makes an element reactive?

An incomplete valence electron level.

All atoms (except hydrogen and helium) want to have 8 electrons in their
very outermost energy level (This is called the rule of octet.)

Atoms bond until this level is complete. Atoms with few valence electrons
lose them during bonding. Atoms with 6, 7, or 8 valence electrons gain
electrons during bonding.



Valence Electrons

m Valence electrons are the
electrons in the outer energy
level of an atom.

m These are the electrons that are
transferred or shared when
atoms bond together.




Sodium Chlorine

1 valence / valence
electron electrons



Sodium Chlorine

Sodium loses one electron.
Chlorine gains one electron.



Sodium Chiloride



See next slide

Your notes:

filled in Periodic Table
should look something
like this.
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